
Effective July 18, 2025
Modified July 21, 2025

Parts List
08D2W, 09D2W, 14D2W Trim

Item Order Part # Description List Price

1

106264-7 Lever Assy, Q, 626 $226.80

106264-14 Lever Assy, Q, 693 $105.84

106264-15 Lever Assy, Q, 695 $105.84

101376-7 Lever Assy, S, 626 $116.64

101376-14 Lever Assy, S, 693 $127.44

101376-15 Lever Assy, S, 695 $284.04

101375-7 Lever Assy, U, 626 $65.88

101375-14 Lever Assy, U, 693 $126.36

101375-1 Lever Assy, U, 695 $85.32

101374-7 Lever Assy, T, 626 $93.96

101374-14 Lever Assy, T, 693 $113.40

101374-15 Lever Assy, T, 695 $51.84

2
106603 Washer, Flat, 1"x0.02 THK (J lever only) $2.33

100851 Washer, Flat, 1"x0.06 THK (All except J lever) $3.51

3
105664-9 Escutcheon Assy, 08D2W/09D2W, BP2, 630 Finish $299.16

105669-9 Escutcheon Assy, 14D2W, BP2, 630 Finish $299.16

4 100771 Stop, Rotational $7.94

6 104220 Standoff, Hex, BP2, EU $21.55

7 100775 Washer, Flat $5.67

8 103047 Clutch Spring $9.07

9 103043 Bottom Gear, Wide $29.16

10 103044 Torque Plate, Wide $24.84

11 103994 Key, Shear Pin, Steel $6.80

12 100821 Washer Clutch $5.67

13
100773 Flat Spring Locking (08 function only) $9.07

101997 Spring, Compression (09 function only) $7.94

14 102536-1 Screw, 10-24, Custom $10.21

15 100766 Spring, Return $3.51

16 101509 Spring, Return, Helper $3.51

17 101436 Rack Assembly $21.55

18 100753 Cover Plate $6.80

19 PP-5378-105 Screw, Mach, 8-32 x 5/16 PPH $1.17

20 PP-5367-108 Screw, Mach, 6-32 x 1/2 PPH $0.12

21 100762 Top Gear $19.28

22 101993 Lock Slide $9.07

23 104214 Adapter Plate, BP2, EU $7.94

24
100572-9 Cylinder Collar, Short $45.00

100752-9 Cylinder Collar, Tall $49.00

25 105964 Washer, Wave $11.34

26
103800-626 Cylinder Housing, SFIC, Mortise, 7 pin, Chrome $57.00

102281-7 Cylinder, Mortise, 5 pin, Chrome $57.00

27 100754 Plate, Cylinder Position $6.80

28 100783 Cylinder Hex Nut $9.00

29 101478 Shaft Extension Assembly $82.08

30 104224-14 Locknut, 1/4-20, Nylon Insert $0.04

31 102264-2 Screw, 1/4-20 x 3/8 PFH, Undercut $0.62

104870   Pg 2

LHR ASSEMBLIES SHOWN
RHR assemblies opposite

1

2

3

4

7

8

9

10
1112

14

15

17

18

19

21

22

13

20

25

26

16

24

23 30

27

28

29

6
31

6


